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Roll No.
JHARKHAND ACADEMIC COUNCIL
RANCHI, JHARKHAND
NATIONAL TALENT SEARCH EXAMINATION (PRELIMINARY), 2017-18
Class X
MENTAL ABILITY AND SCHOLASTIC APTITUDE TEST
Part I : Time 45 Minutes Max, Marks : 5¢
Part I : Time 45 Minutes Max. Marks * 50
Fart IIT : Time 90 Minutes INSTRUCTIONS TO CANDIDATES Max. Marks : 100

Read the following instructions carefully before you answer the questions. Answers are to be given on a
seperate O.M.R. Answer-Sheet,

1.

11,

12,

Please write your Roll No. very carefully (only one digit in one block) as given on your admission card,
Please see that no block is left unfilled and even zeros appearing in the Roll No. are correctly transferred
to the appropriate blocks on the booklet and on the answer-sheet. For example, a student appearing from
Ranchi and Roll Number 21188899999 will make entries in the boxes as under

Roll No.| 2 1 1 8 8 8 9 9 9 9 9

For all subsequent purposes your Roll No. shall remain the same as given on the admission card.

This test in three Parts. Part I consists of 50 questions, Part 1T consists of 50 questions and Part 1{]
consists of 100 questions,

All questions in Part I, Part II and Part I11 carry one mark each and are compulsory,

Since all questions are compulsory, do not try to read through the whole question-paper hefore
beginning to answer it.

Begin with the first question and keep on trying one question after another till you finish both the parts

If you do not know the answer to any question, do not spend much time on it and pass on (o the next one
Time permitting, you can come back to the questions which you have left in the fiis instance and try
them again.

Since the time allotted to the two parts of this question-paper is very limited, you should make the best
use of it by not spending too much time on any question.

A blank page has been provided for rough-work art the end of each subject.

Remember you have to mark your answers on a separate O.M.R. Answer-Sheet as per instructions
given below :

. The answer-sheet has three parts ; Part I, Part IT and Part 11 corresponding to Part 1, Part IT and Part [11

of the test. The answer-sheet comprises three printed columns, one for answering the Mental Ability
Test questions, one for answering Language Test and the other for answering the Scholastic Aptitude
Test questions. The answers to the Mental Ability Test questions, Language Test questions and
Scholastic Aptitude Test questions are to be marked on the respective columns. Marks will not he
awarded, if the answers are not entered in proper columns,

Answer to each question is to be indicated by darkening the circle by blue or black ball pen only, the
number of the correct alternative in the answer-sheet from amongst the ones given for the corresponding
question in the test booklet.

Now turn to the next page and start answering the questions.

N.B.: Do no write anything except the Roll Number in the Bookler.
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Part I
Mental Ability Test

Time : 45 Minutes Max Marks : 50
DIRECTION

1. All the questions of this part are related to the subjects of Mental Ability Test.

2. Before answering the questions, read these directions very carefully.

3. This part contains 50 questions.

4. Each question carries one mark.

5. Answer to all the question is essential.

6. The questions are to be answered on the O.M.R. Answer Sheet supplied in the

Examination Hall.
7. Every question has four alternatives, of which only one is correct.

2 Answer to each question is to be indicated by darkening the circle, by blue or
black ball pen only, the number of the correct alternative in the O.M.R. Answer
Sheet from amongst the ones given for the corresponding question in the Test
(Question) Booklet.

Please Turn Over the Page and Start Your Work.
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[M-1]
Mental Ability Test : S8 JFIar TLrE
MENTAL ABILITY TEST
Q 1-6  Study the following information and answer the questions given below it.
All the six members of a family A, B, C, D, E and F are travelling together. B is the son of
C but C is not the mother of B. A and C are a married couple. E is the brother of C. D is the
daughter of A. F is the brother of B.
&3 T SR W TeAT HE AR A Ry T g H oI F
Feett gRer &4 B8 §e&l A, B, C, D, E &IU F U% 89 461 & € | 'B', C# 0 & &f6d
S,Baﬁﬁ‘rwﬁ% | AR Cloaie st 81 E,CH 92 & | D, A® G & F, B& 91
e |
1. How many male members are there in the family ?
ofRar & qeu waEl B dell B B 7
(1y 1 (2) 2 (3) 3 (4) 4
2. Who is the mother of 'B' ?
B &l A1 % 2 7
(1) D (2) F (3. E 4) A
3. How many children does 'A' have ?
A o = 8 7
(1) One (2) Two (3) Three (4) Four
4. Who is the wife of 'E' 7
E %I 91 % 8 ?
() A (2). °F
(3) B (4) cannot be determined (ST &1 Frar =11 FaF)
5. Which of the following is a pair of females ?
5T & Hfewed B g (seEn) B o g
(1) AE (2) BD (3) DF (4) AD



[M-2]
How is 'E’ relared to 'D' ?
E & D% A %4 dag ¢ ¢
(1) Father (far) (2) Brother (4r2)
(3) Uncle (5r=m) (4) cannot be determined (ST & far T )

How many triangles are there in the given figure ?

1 R T e ¥ RSt @ s o a7

(1) 26 (2) 24 (3) 22 4) 27
In the given question choose the correct mirror image from amongst the four alternatives.

53 0 5T F w8 e sl = e & & 97 7

- - i
PRACTICE HOT Ty
(1) 3DITDASY (2) 99ADTIDE
(3) PRACTICE (4) ADILCAHL9

In the given question choose the correct water image from amongst the four alternatives.
63 M0 0 7 e o sfofe ww e & & g

MUMBAI
(1) WOINBYI (2) IVAMUM (3) WNOWBYI (4) WOWIVI

TAd[T)C

Study the pattern of numbers in the following questions and select the missing numbers in the
place of question mark (7). Mark the correct alternative on your answer-sheet as directed.

T g e & gt B 39 ot aw Ht F s e (7) & wm o e @
we B | fEd T R § & W S g o sa-gRew § R aeid |

7 X

(1) 72 2) 70 (3) 68 4) 66




Q 11-20 In each of the foll

11.

12.

13.

14,

16.

17,

18.

13

20.

i
NS4
S

owing questions, a series of number / alphabets is given which follow
certain rules. One of the number / alphabet is missing,
alphabets from the alternatives given below and mark it on y

Choose the missing number / |
our answer-sheet as directed.

ﬁwﬁmﬁmmﬁwmﬁmmﬁ%ﬁr%mﬁmmwwm% | S 9 7 Aoy
ﬁ%é@?@mw%|ﬁﬁ@ﬁ%ﬁﬁ%@@ﬁ?ﬁﬁwmw—gﬁaﬂﬂw|

121, 225, 361, 7

(1) 529

18,24, 21, 27,230, 27

(1) 33
14, 19, 29, 49, 89, 7

(1) 139

m — pl _ pplmp _ lmpp _

(1) pmpl

P—Pq—qrqr _ rprp _

(1) qrgr

—PST,q_sr,qp — 1, gps

(1) pars

KLM N KL M1 N, K L MN, £ LMN

(I) NMLK

— X0 W S NYYI Y,

@) XY

RLLA
ELFA, GLHA, ILJA, _ . MLNA

(1) OLPA

PON, RQP, TSR, VUT,? 3¢ (JV

(1) WUY

(2) KLMN

(2) YXYX

(2) KLMA

2) YXZ

(3) 441

24

159

pmml

prqp

qpsr

LKNM

XYYX

LLMA

XWV

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

729

21

169

Imml

qipg

qspr

KLNM

YYXX

KLLA

Uvw
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[M-4]
i Q 51-25 Read the following information carefully and answer the questions given below :
fE T S B AFgE® gfed iR A Y T wet @ o ¥
(1) There is a group of five persons - A, B, C, D and E.
99 955 A, B, C, D & E % 0% 9Yg & ?

(ii) One of them is a horticulturist, one is a physicist. One is a Journalist, One is an
industrialist and one is an advocate.

T UF JEMENE, 0% Aifos [, 06 SR, UF SUrN 79 U6 e 8 |

(111) Three of them - A, C and advocate prefer tea to coffee and two of them - B and the
Journalist prefer coffee to tea.

T RGN - A, C ol g8 F% % T 91 UEE F9 © a9 399 9 - B ¥ UHew
T F =50 F THE FAT & |

(iv) The industrialist and D and A are friends to one another but two of them prefer coffee to
tea.

SO 7o D T A w gEt & ¥ AR o @ 9 9 @ e e e w

{v) The horticulturist is C's brother.

TEFETE C il S E |
21. Who is the horticulturist ?
TR D & 7
(1) A (2) B (3 C 4) D
221 Who is the industrialist 7
FPIfy A B 7
(1) B (ZHE (3) B 4) A
23. Which of the following groups includes a person who likes tea but is not an advocate 7
it ® B T9E 99 UHE F & AR gebie T8 8

(1) ACE (2) DE (3) BCE (4) None of these




= E—— G |
[M-5]

24, Who is a physicist ?
AifeeBias & 2 7
(1) A (2) E (3) D (A) e

25, Which of the statements given above is superfluous ?
SYUH B A FT HETF B |
(1) (iii) (2) Gv) (3) (i) (4) None of these

26. In a cricket match five batsman A, B, C, D and E scored an average of 36 runs. D scored 5
more than E; E scored 8 fewer than A: B scored as many as D and E combined: and B and
scored 107 between them. How many runs did E score ?
W e 79§ A, B, C, D o E st famrdt 1 o 36 w0 & | D3 E® 5% v &,
EX A® 8T &7 79; BY 0 & T a0 Bt o D &k E ¥ Psf 59 & =7 79 B
AT C X 107 T 109 & P a9/ | E o1 7 @R o & 7
(1) 62 (2) 45 (3) 28 (4) 20

27 Five bells begin to toll together and toll respectively at intervals of 6, 5, 7. 10 and 12
seconds. How many times will they toll together in one hour excluding the one at the start ?
i ofedr oF @ S 9% a6 & o w6, 5, 7 10 37 12 8% & Faqd W o
g% B 9T U% F BigdT U 42 § F Bl A o | aeng 2
(1) ‘7times (2) 8 times (3) 9 times (4) 11 times

28. There are Deer and Peacock in a zoo, By counting heads they are 80. The number of their
legs is 200. How many Peacock are there ?
fﬁ?{ﬁﬁféﬂﬂ{ﬂ‘%waﬂ?q{{%lmWﬁaaﬂ%umﬁﬁmzﬂﬂﬁumwﬁ
e e 2
(1) 20 (2) 30 (3) a0 (4) 60

29, A is 3 years younger than C but one year older than D. D is one vear older than B but 4

years younger than C. C is 15 years old. What is the age of B in years ?

A,CﬁSﬂﬁ@ﬂ%ﬁWD@lﬁﬁ@T%lD,BﬁIa‘ﬁw%%ﬁﬂCﬁdﬁ@'ﬂ%lt
1599 #1 & | B& 39 a8 § 97 gpyy ?

(1) 10 2y 11 (3) 12 (4) 13



30.

Q 31-35

31.

33,

34.

[M-6]

Kunal walks 10 kilometers towards North. From there, he walks 6 kilometers towards South.
Then he walks 3 kilometers towards Easi. How far and in which direction is he with
reference to his starting points ?

FIIS I &390 1 R 10 Reesdiex 9 € 1 O 98 6 RRf. 2T @1 iR o § 56 9w 3% 3
.. g % Gl S & | A 7 98 A9 R o A R gl Wi e Ram E R 7

(1) 5 km. West (B5.5t. ofs=m) (2) 5 km. North-East (%.4f. 3w-1d)
(3) 7 km. East (B, wa) (4) 7 km. West (7557, fyem)

Study the diagram given below and give the answer to the questions which follows -

fFr=ifafas emE # e1eEe Ft i fBu U gest & I -

Politician (T=miE)
Professor (Wreqids)

Parliament Member (d8% #=e)

J

S A_A——— Graduate (FTH)

Who among the following is Graduate or Professor but not Politician ?

EEE AR AL B e 2 e [ B I E A

(1) B,G (2) G, H (3) A, E 4 E,F

Who among the following politician is graduate but not parliament member ?

Frifeiad & & @ Ueics S0E & e Ges e T8 8 ¢

(1) B p2) LB @9 18I 4 A H L

Who among the following politicians are those who is neither a professor nor a graduate ?
gt e e A 2 Ml T S e B 12 2 R B 1

(1) E,F (2] DE 3) C,D 4y L, H

Who among the following parliamentarian are those who is also a politician and graduate and
also a professor ?

Fr=fefag § § @9 995 956 U & o Uoriias 9 § T Sos U9 oeEs 9§ 7

(1) G ) F 3) C @) H




5.

36.

37,

38.

39,

M-7]
Who among the following graduate are those who is a politician and also a professor ?

R § B # EE 08§ o Teee # § o e o 8 7
(1) F (2) € (3) B,F 4 C,G

If in a certain code, SENIOR is written as NZIDJM. Then which word is written in the same
code as XDODUZI.

g% SENIOR @ et gz or & NZIDIM forer o o o&ft %2 w1 & @4 9= # XDODUZI
fer@n S

(1) CISTERN (2) INQUIRE (3) CITIZEN (4) SUSTAIN

If SYSTEM is coded as SYSMET and NEARER as AENRER, then FRACTION will be
coded as :

a® SYSTEM # % @ # SYSMET &k NEARER # AENRER fwen #wm & &
FRACTION & &g 91 5 feram S ¢

(1) CARFNOIT (2) NOITFRAC (3) FRACNOIT (4y CARFTION

If RED is coded as 6720, then how would GREEN be coded ?

% RED i % 7191 § 6720 fvar 5@ & GREEN & % <o & &8 R s ?

(1) 1677199 (2) 1677209 (3) 16717209 (4) 9207716

Taj Mahal is related to love in the same way as Jallianwala Bagh is related t0. ......... =
qreTTET F Bl 9] & ¢ 5 S B e aE

(1) Peace (2) Truth (3) War (4) Martyrdom

Find out the correct image in place of question marks (?) from the given alternatives.

RY o F § (7) e F N W e g

—

(1) (2) (3) (4)

10



41.

Q 42-48

42.

43.

44.

45.

46.

47.

[M-8]

How many 7's immediately preceded by 6 but not immediately followed by 4 are there in the
following series ?

Frrifeia e 3 S fha 7 8 B g ved 6 & affd gt ae 4 T R 7

742764 367535 784376 72406 743

(1) 1 (one) (2) 2 (two) (37 4 (four) (4) 6 (six)

In these questions pairs of words/letters/numbers to the left/right of :: have certain

relationship with each other. You are required to select the correct alternative so that similar
relationship is established to the right/left of ::

MO A o $ A9/ BE 8 IS /dE/HET § d9E % g g9y € Reww § ¥ w6
e gt forad e o & o 2 98 ol A 3 & Wy wnfit| g w

Institute : Academy :: Decree : ?
(1) Blame (2) Court (3) Judge (4) Mandate

Young : Old :: ? : Wide

(1) Insufficient (2) Big (3) Narrow (4) Long
63 :80::120: 7

(1) 125 (2) 137 (3) 170 (4) 180
Sal24: T

(1) 125 (2) 248 (3) 342 (4) 343

TEKCAR : RACKET :: TCEJBO : ?
(1) TCEOBIJ (2) OBIECT (3y CEJBEOT (4) REJECT
BDFH : JLNP :: RTVX : ?

(1) BDHF (2) BDFZ (3) ZBDF (4) YZAB

11

i) e S e T —
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[M-9]
48. _.E.;... ] E_G = E «
T 11 L
T 11 8 12
1) — 2) — 3y — 4) —
(1) 2] (2) - (3) 13 (4) =
49, If 'x' means '-' '=' means 'x', '-' means '+ ' and '+ ' means '=' then

e X' Hard - AR k- o and el el A
8+4x2-4+2=7

@ (2) 28 (3) 32 (4) 36

If L=+, M=-, N=x, P=+ then

qig L=+, M=-, N=x, P=+ @%
14N10L42P2M8 = ?

(1) 158 (2) 153 (3) 248 (4) 2

Ln
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EER
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[ 2*]

H TACEAE |
CILIREER] T el @t He S N AN 7% Ho
e 50 50 1 (o%) % 14-16
b1
B DE] 50 30 1 (=) &i® 17-20
3, o 3R % T FEs a BEw ameE § 8 9e Hi
4,  TEE 9 | (0H) WEH WP |
5. | g @ I A eferd ®
6. TRk Us % G ohE W § ogf B T ol ©H. . S6T-99% (OMR-Answer Sheet) T €1 & © |
7. o NS 3 91 SeRee oad R e ¥ B dE 0n o9 W R
8, ow-geE 3 ved § Ry g el e oml A § we R g o el fae 9 e AT B 98T
T S FOA B | :
PART-II
LANGUAGE TEST
Time : For General - 45 Minutes, For Disabled (Visually Impaired) - 60 Minutes Full Marks : 50
INSTRUCTIONS
1. All the questions of this part are related to Language Test.
2. This part contains 50 questions in Hindi Language and 50 questions in English Language. The candidate has to
choose and attempt this test only in one Language i.e. either in Hindi or in English.
; Marks allotted to each
Language Sub | Full Marks | No. of Questions Ouestion Page No.
Hindi 50 50 1 (one) 14-16
or
English 50 50 1 {one) 17-20
3. Before answering the questions, read these instructions very carefully.
4, Each question carries 1 (one) mark.
5.  Answer to all the question is essential.
6. This questions are to be answered on OMR Answer-Sheet supplied in the Examination Hall.
7. Every question has four alternatives of which only one is correct.
8.  Answer to each question is o be indicated by darkening the number of the correct alternative in the Answer Sheet

from amongst the ones given for the corresponding question in the Test (Question) Booklet.

I I Ieie T AT HE STEH @< | Please Turn Over the Page and Start Your Work.
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[H-1]

:d

TP
BLSF K e, K S ¢ -

oy
4
4
3 s

(1) = (2) aa
(3) gw (4) R
RETNC s e o

(1) (2) T
(3) =AHEA (4) 99
g GIC 39§ e 5 G © 7
(1) e (2) T
(3) R (4) e
el J5 Wi H il 1 HT ] 7
(1) = (2) &4
(3) fe=m (4) =
Rl JEE ©F § HrEsE o 7
(1) @f= (2) =
(3) feemy (4) wHr

U T TS F SEN A9 G I S
AT & A B 7

(1) T (2) g
(3) 9= (4) T

14

ysq 7-11 Fr=fefag 9oisr & ST 9 q99 G6

10.

13.

14.

e #1999 FifT |

fesm Ry & 31 et JoE-SeE I,
fera o =T Sre-amEl ® g g |
form redl 7 @ fan, 98 g e 8,
R UT 99 &9 B & SesdE g |
#r oy & A9 3 3O R T E,

o Y 98 T F AE, 4 &Y T ¢ |
FRe weErsr § fem B e ged B 7

(1) wd s (2) oI mE

(3) o9 S (4) T T

Fa fBFe P % B9 a9 w5 O e
(1) Fm e & s @

(2) fom M 9 ol &

(3) Fo fagd 3w far @

(4) fom Bed & 70 &

(1) e (2) =3A

(3) w99 (4) =9

fr=T ferepedt & ® ‘o 1 qaEErE 9= g 7

(1) e (2) TEE

(3) @ (4) o
. F Rl 8 @ ‘et 1 wEiEERE 9= g 7
(1) =™ (2) e

(3) emEsr (4) =F

Bu o faged § § AU & e g ?
(1) &Y (2) FRET

(3) TEH (4) T

R o R & & ‘SR @ R gt 7

(1) &R (2) TEW
(3) =T (4) e
BT U foebedl H H I w REE g 7
(1) 5g@ ) fga
(3) @ 4) Brom

. BT W FES § § Feiies aee & fag

T g g4 | T S o & e

(1) =4 (2) qrEE
(3) I (4) =g
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17.

18,

19.

20.

[
[5¥]

23.

24.

[H-2]

e e e M O & s e Al o U I L
UF 9 G | 98 FHa A qEpa Badr B
(1) THE (2) e

(3) oMy B (4) T

fr T fEedt § § FrAfaiEd s # R
TE SE Y | THE ® R 3 U W W

(1) A=A (2) 9= 9qM

(3) T=gM (4) yadifEa
‘FAe = T AE ol § -

(1) U AR

(2) TRT T SUER F A A

(3) FT FTT B FHI

(4) TFT U ITFR H T HEA A6

fRu o fased @ 9= go aen o= g |
(1) =gAms (2) =gHE

(3) =gHEE (4) =TGR

faw T fedt g dol a9 g o
(1) @+ (2) aFETl

(3) STEFa (4) oFaT
. T & od § -

(1) AT (2) T S
(3) ®H= (4) To7 g9 =
Rr T feed § A ‘B09 w1 gE Hiess
o |

(1) &R + 2w (2) & + 24
(3) &l + &9 4) &+ {4

Ru mu fgedl § § Aa @ S s
T |

(1) |9 + B (2) |9 + FdI
(3) @@ + W (4) &= + T

Bu m Fewr ¥ § 9 9T & T TR
g | o = T + Y

(1) 9w g/ (2) T |

(3) @M HY (4) oA HiY

. o A g RS & HE e 9H-

‘HE MIE 8 A |
(1) ToErs fEwer  (2) HermEEs EEEe
(3) wEAE g (4) oReTHEEE faereer
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26.

28.

29.

31.

32.

33

34.

O | P9 geEn g B A
g7

(1) qEsmeE B (2) RO e
(3) Wmag BT (4) T R
. T T wed €

(1) 9 999 ¥ U% 9WRY afg & Sifaiem
6 AT FIZ ZH T 91 8 |

(2) f8 @ § uF R 791 OF FA o

(3) fo9 o= ¥ u& wal o9 o FRAT Bl

(4) g e ® o w41 aur oF R e

‘Fa el f6 H feiy € R oo @ oaeE R 7

(1) = e (2) H3 9=

(3) ®gF A (4) TOTEE aEE

1111 e 21 O < O O S

feheq & =99 Y |

(1) TBEES (2) FEEEE

(3) Hg=ETES (4) FEEETES

. ‘die | e B T e 9w oasd B 7 e
fehed & F99 &L |

(1) HhoaEs (2) FegaEs

(3) SIEETES (4) e

‘e’ % foe e e § F @e 99 @
T Y |

(1) #HHarE (2)

(3) dEdiE 4) f&y

‘meyee’ & fou e et § § wEl @A @
T FE |

(1) g (2) HHIRE

(3) agif 4) fa

W & Fra 57§ Al a1 95 W T A A
S A B I T e B 7

(1) TdIm (2) =

(3) fim 4) FIH

T wdom § B e awg @ o9 T @
% foe we faeey &1 T8 &Y |

(1) Feggdras qEom

(2) SHsEHaEE T4

(3) AsEES HaOmH

(4) weErEE qEomH
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36.

37.

38.

39.

40.

41.

[H-3]

e 1 B RS e (R IR
RNERETEE

‘Hie og.oE A § ST § ) aEdt e S
FeT HAW F 86 HIAT THD . oeenneannns |

(1) T 9ers Fraedl gfean o ¢ o

(2) 0 B B EA 2 |

(3) &t o I &\ R |

(4) | ¥ geErm # |

el § | ‘O U OF% H qEEl &6
el &Y g

(1) ofafeEr a=m S

(2) =g URHH

(3) =9 S T

(4) |95 H Tor @
?ﬁﬁ%ﬂﬁﬁﬁ@%ﬁﬁw
7

(1) @ (2) wEI™

(3) fasmer (4) T

5 B ol B o B o e e o A
T e & 7

(1) s (2) wEIH

(3) (4) o fasmor

99 % 99 AN H AH w § fiE T

WER HeE f) o 3 ¥ Ry qm ad
33 -

(1) v==y (2) a=m

(3) = (4) A

(A L ol L e o
T TEgEY

(1) e (2) wgEy

(3) fay (4) s

i el § & 98 a9 & 999 HT |
(1) 9% 558 g9 9rg & |
(2) 7% 39 & 479§ |
(3) TITHIAT |
(4) T8 99 47 & 7ve |
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43,

44,

45.

47.

49.
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(2) 9T H o o £

(3) AFT ¥ o wieEr &
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R A B
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T F 3t | A & fee A E 7

(1) =X (2) &

(3) @ (4) 378 § FE T
AR F HfwT 99 © -

(1) drm (2) FIRFE

(3) e (4) fogdt

. HE W B | A W OHE Sgae T -
(1) F|SACTEE |

(2) #SFT|MEE

(3) W= E

(4) =T =X TE E



__ [E-1]
English SO

QQ 1-5 : Read the passage given below and 3. His only hope was :

answer the questions that follow.

'Vanka' is the story of a nine year old
boy, told by a famous writer, Chekov.

Vanka was an orphan. He had lost his
father and mother and his only hope was
his grandfather. He worked as an
assistant to a shoemaker named
Aclyakhin. On Christamas eve (The 24th
of December) when everybody had gone
to the church, Vanka decided to write a
letter to his grandfather. He wrote about
the sad story of his life as an assistant to
the cruel shoemaker.

Vanka's grandfather was a night
watchman. He was an old man of
sixtyfive, but he was lively and cheerful.
He slept in the kitchen and cracked jokes
with the cook. At night while people slept
in their warm bedroom, he wrapped
himself in the heavy coat and made
rounds of the area. At intervals he blew
his whistle.

Vank's grandfather always offered
biscuits to his old friends, while the
servants and the cook joked at the church
gate, Vanka looked at the stars twinkling
in the sky in the dark night. It reminded
him of the reality of life and his grim
fate.

'Vanka' is the story told by :

(1} Dickens (2) Premchand
(3) Chekov (4) Swift
Vanka was :

(1) six year old (2) mnine year old

(3) sevenyearold (4) eleven year old

(1) his mother (2) his father
(3) his grandfather (4) his uncle

He worked as an assistant to :

(1) abookseller (2) ashoemaker
(3) acarpenter (4) atailor

Vanka's grandfather always
offered; v to his old friend.

(1) tea (2) milk
(3) biscuits (4) bread

Q 5-6 : Read the passage given below and

answer the questions that follow :

Pygmalion was the king of Cyprus. He
was a sculptor. Once he made an ivory
statue, representing an ideal woman. The
statue was very beautiful and he fell in
love with his own creation. The statue
looked real. It was a masterpiece.

He named the statue Galatea. Had the
statue been a real woman, he would have
married her. As he looked at the statue,
he was overcome with affection. He
prayed to Venus, the goddess of love and
beauty. He requested the goddess to
breathe life into the ivory statue. His
prayer was granted and Galatea came to
life. She moved towards Pygmalion. Her
face was beaming with light and
kindness. Pygmalion watched her like an
innocent child. Galatea spread her hands
and touched his head. He was
overwnelmed with joy. But soon she fell
asleep, when she woke up, she looked
older.

Time passed and she grew older and
older. She was no longer a piece of art,




=

[E-2]

but a human being. Now she was not
beyond the wear and tear of time.

When Pygmalion saw that ageing could
not be avoided, he struck Galatea with a
chisel to create her anew. He created her
statue again, but her head bent towards
the earth. Pygmalion realised that only a
work of art remains permanent.
'Pygmalion is a famous play written by
the great dramatist, George Bernard
Shaw.

Pygmalion was the king of :

(1) England (2) Cyprus

(3) Spain (4)
The king was a :
(1} dictator
(3) sculptor

France
(2) lover of flowers
(4) tourist
He made a statue of ;
(1) gold (2)
(3) (4)
The statue represented

silver

bronze ivory
(1) abeautiful creature
(2) ahandsome knight
(3) anideal woman
(4) aroaring lion

10. 'Pygmalion’ is a play, written by :

(1) Shakespeare

(2) Ben Johnson

(3) George Bernard Shaw

(4) Browning

Q 11-12 : The following five sentences come
from a paragraph. The first and the last
sentences are given. Choose the order in
which the three sentences (PQR) should
appear to complete the paragraph.

18

11. S; Moving closer, [ saw that it was a

tiny baby squirrel

At e o W ol WP |

DA e o e e B S

e s

Ss It was now motionless, waiting for
further assault.

P It must have accidently fallen down
from a nest.

Q It was now an easy prey for crows,

R It had already sustained two wounds

due to the assault by a pair of crows.

(1) PQR (2) RQP
(3) QPR (4) QRP

12. S1 Tigers live in the forest,
SE ol st e e A
e o
R s N S DAL
53 Such tigers are called man-eaters.

P They attack villages and kill buffaloes

Q Some of them become ferocious

R They are a threat to men living in

villages, boardering deep forests.
Choose from the options given belows -
(1) PRQ (2) QPR
3) PAR (4) RQP
Q 13-22 : Choose the word which best fills the
blank in the sentences from the four
options given :
L35 15 the best policy

(1) bravery (2) honesty

(3) charity (4) patience
14, DA YOU. . oo e the tea ?

(1) taste (2) drink

(3) sip (4) lick



16.

17.

18.

19,

20.

21.

22,

[E-3]

v Iwosand tWou e i four
(1) make (2) made
(3) makes (4) mean
Eharity begins, cicss s

(1) atchurch
(3} at home

at hospital
at orphange
A carpenter makes. ..o vivaivinns
(1) clothes (2)
(3) (4)
One who stitches cloth is..... e
(1) abarber (2) artailor

(3) (4) asoldier

An epitaph is a verse written on

Sweels

furniture tools

d MESSCNEET

(1) apillar (2) paper

(3) atomb (4) cloth

A friangleas afigureofi,. ... sides
(1) two (2) four

(3) three (4) five

A place where young planis are reared
TR i A

(1) apark
(3) (4) aplayground
The place where many kinds of animals
andbirdsare kepras:c i s

(2) anursery
a farmhouse

(1) agarden
(3) afield

(2) azoo
(4) a mountain

(Q 23-25 : Select the meaning of the given

phrases/idioms.

. Null and void :

invalid

(2)
(4) useless

(1) secure
(3) limited

. Bag and baggage

(1) with clothes
(2) with bags

(3)
(4)

with all belongings
with furniture

23.

Toil and moil :
(1) travel
(3} hard labour

(2) work
(4) rest

Q 26-30 : In the following passage there are

26.

27.

28.

29.

30.

Q 31-35 : Select the word

some blanks with numbers. Fill in the
blanks by selecting the most appropriate
word for each blank from given options
of each number.

One evening I 26 my friend's garden. It is
small but attractive. There are beautiful
flowers of different colours. They look
very 27. The grass in the garden is 28, I
sat on the grass for sometume, I forgot
my cares and 29. 1 left the garden when it
grew 30.

(1) saw (2) came to
(3) wisited (4) enjoyed
(1) beautiful (2) lovely
(3) fine (4) handsome
(1) tender (2) soft

(3) green (4) moist
(1) duties (2) anxieties
(3) books (4) games
(1) late (2) dark

(3) charming (4) foggy

which means the
opposite of the given word.

31. Absence
(1) present (2) seen
(3) presence (4) turn-up
32. Ancient
(1) of today (2} new
(3) modern (4) novel
33. Major
(1) ordinary (2) minor
(3) small (4) little
19




34.

35,

Peace

(1) disturbance (2)
(3) war (4)
Accept

(1) doesn'tallow (2)
(3) deny (4)

unrest
uproar

reject
negate

[E-4]

Q 36-40 : Select the word which means nearly
the same as the given word :

36.

3.

38.

39.

40.

similar

shine

rival

optimist

time
drinks

careless

stout

forgetful

inattentive

Q 41-45 : Fill in the blanks with right forms of

41.

42.

Alike

(1) not like (2)
(3) look (4)
Antagonist

(1) friend (2)
(3) competitor (4)
Diet

(1) date (2)
(3) food (4)
Bold

(1) hasty (2)
(3) brave (4)
Innocent

(1) unaware (2)
(3) guiltless (4)
comparatives :

He is fromia. . .. comeeensss f
(1) rich (2)
(3) richer (4)
THatDOIs . esssnrras s
(1) wicked (2)

(3) more wicked

more rich
richest

wrickeder

most wicked

than his friend

20

43.

44,

45.

sy

o B e wtisiyiia]

SHE SIOES s

sisters.
(1) good
(3) gooder

(1) more senior
(3) most senior

This colour is
colour,

(1) bright
(3) brighter

................ than

............. amongst her

(2) better
(4) best

....tome inage

(2) senior
(4)

sENioTMOSt

that

(2) more bright
(4) brightest

Q 46-50 : Fill in the blanks with suitable

47.

48.

49.

50.

modals :

[, e N do this work

(1) may (2) can

(3) will {(4) shall

DA o love our neighbours,

(1) will (2} can

(3) should (4) would

BBA Lo e, i play with toys in his
childhood.

(1) would (2) usedto

(3) should (4) could

WE . oottt save the dignity of
the country at any cost.

(1) will (2) oughtto

(3) could (4) would

He is sick and he

bed this time.
(1) shall
(3) must
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Part I11
Scholastic Aptitude Test
Time : 90 Minutes Max Marks : 10
DIRECTION
1. All the questions of this part are related to the subjects of Scholastic Ability Test.
2. Before answering the questions, read these directions very carefully,
3. This part contains 100 questions.
4, Each question carries one mark.
Y. Answer to all the questions is essential.
The subjects of Scholastic Aptitude Test are divided into three groups, as given below
S1. [ Title of the group Subjects covered Full No. of | Marks allotted
No. under the group marks | questions | to each question
(i) | Science Discipline | Physics, Chemistry | 40 40 | (one)
and Biology '
(ii) | Mathematics Mathematics 20 20 1 (one)
(iii) | Social Sciences History, Geography 40 40 I (one)
and Humanities Civics and
Economics
7 The questions are to be answered on the O.M.R. Answer Sheet supplied in the
Examination Hall.
8. Every question has four alternatives, of which only one is correct,
9. Answer to each question is to be indicated by darkening the circle, by blue or black ball pen

only, the number of the correct alternative in the O.M.R. Answer Sheet from amongst the
ones given for the corresponding question in the Test (Question) Booklet.

Please Turn Over the Page and Start Your Work.
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[PHY-1]

Physics

1. The prefix for factor 1078 is 1.
(1) atomic (2) auto
(3} atto (4) anti

2. The drift velocity of electrons in a -

N

conductor is :

(1) very small

(2) wvery large

(3) equal to the velocity of light

(4) varies with the conductor

The equivalent resistance of r| & r, when 3,

connected in series is R, and that when
they are connected in parallel is R,. Then

o
the ratio 150
r i rl+r3
(1) 7, (2) i,
_ |".*‘[—i-]h,,l2 '\
- 4 -
3) Ty Ty (4) 2r| +r,

A vertical wire carries a current in %
upward direction. An electron beam sent
horizontally towards the wire will be

deflected :

(1) towards right (2) towards left
(3) upwards (4) downwards
Electromagnets are made of : 3.
(2) steel

(4) titanium

(1} softiron
(3) aluminium
X-ray beam can be deflected : 6.
(1) by an electric field

(2) by a magnetic field

(3) by electric & magnetic fields both

(4} neither by an electric field nor by a
magnetic field

T 107 1 Rt = #

(1) i 2) o

(3) ud 4) T

FRel = 7 sweg @ Ry 3 dr ¥
(1) gd B

(2) = T

(3) U & AT P IWET
(4) 9% F=E § GEEr &

ry T, SO @A B ¥ ey w oo
THGed ARidE R, & w0 9% MR § e

W TE R, B,
R
ol ST T] BT
7 £ ot
(1) - (2) n,
(rr.)? riks
3) rr @ 2r, 1,

TF Fe GX § U S # AR vald © o
B G B e e g £l T S i e
o ent

(1) @ & (2) = &

3) TW & &K (4) T F oix
ﬁgﬁwaﬁéﬁ’r%:

(1) H @8 % (2) ®ma

Q) T E (@) TEEw B
X-fpet faafera #1 o qedt & -

(1) o &= amr
(2) grmhlE &= 2
(3) g wd g &= I an

@) 7 a fEdm & W dr T g
CERAR




10.

[PHY-2]

The dispersive power of a medium is : 7
(1) the greatest for red light

(2) the least for red light

(3) the least for yellow light

(4) the same for all colours

A spherical mirror and a thin spherical 8§,
lens have each focal length of - 15 cm.
The mirror and the lens are likely to be :

(1) both concave
(2) both convex

(3) the mirror is concave and the lens is
convex

the mirror is convex and the lens is
concave

(4)

The change in focal length of an eye lens 9.
is caused by the action of the :

(1) pupil
(2) retina
(3) ciliary muscles

(4) iris

An electric bulb is rated 220 v and 100 w. 10,

When it is operated on 110 v, the power
consumed will be :
(1) 100w (2) 75w

(3) 50w 4) 25w

Rl Hrerm ) faEae e A ®
(1) @ 1 % 59 3 F gt
(2) @@ 1 % we & fw e
(3) 9 T % T & R gEw
(4) & @ % fre g9H

Wb AT - 15 em ¥ | HWEAT ® R ado
&t T

(1) 2t ey &
(2) A I &
(3) =W AT ¥ St am g B
(4) 7 TERT ® O e ey B

W A W g § uReds s B an
T B R

(1) geeit
(2) e
(3) Fferdt afetfemi
(4) omsfE

T fagd = W 220 v ofX 100 w i ¥ |
@ T 110 v 9T S 9 ¥ S S
BT

(1) 100 w ) 75w

(3) 50w (4) 25w



11.

12,

13.

[PHY-3]

The far point of a myopic person is 80
cm, infront of the eye. What is the power
and kind of lens required to correct the
problem :

(1) +1.5D. convex lens
(2)
(3)
(4)

-1.5 D, concave lens
-1.25 D, concave lens
+1.25 D, convex lens

The horizontal range of a projectile is
maximum for a given velocity of
projection when the angle of projection
18 :

(1) 30° (2)
(3) 45° (4)
Parsec is the unit of :

(2)
(4)

60°
90°
(1) distance [ime

(3) wvelocity angle

25

11

12.

13.

Ty 3R A AR F grEg-ag 80 em W E |
IS 3fte 29 H PIRH % MU oEwEE a9
et AR W A

(1) +1.5D, 39« a
(2) -1.5D, ¥ a@
(3) -1.25D, & a
(4) +1.25D, 39« A

B @ 3 g v e w ahe W
HAYHTH BT & WE IEE TR HT 2 ©

(1) 302 (2) 60°
(3) 45° 4) 90°
UHHE §FE B ¢

() & (2) 5T H
(3) M (4) T H
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[CHE-1]

Chemistry

14,

ek
wn

16.

J bl

18.

19,

Addition of HCI to an aqueous solution of
Pb(NO;}, gives a

(1)
(2)
(3)
(4)

Yellow Precipitate
Brown Precipitate
White Precipitate
Black Precipitate

. The total number of isomers having the

molecular formula C Hg is
(1) 2 (2) 3
(3) 6 (4) 4

The carbon-carbon bond length in ethane
is

(1) 1.20 A 2) 1.34 A

(3) 1.54 A (4) 1.39 A

Which of the following reagents may be
used to distinguish between 1-butyne and
2-butyne?

(1) Br,;in CCl,

(2) Dilute KMnO,

(3) Concentrated H,SO,

(4)
Which of the following reagents can
convert propionic acid into 1-propanol?
(1) NaBH,

(2) LiAIH,

(3) Naand C,H:OH

(4) H,/Ni

Ketones can be obtained in one step by
the

(1)
(2)
(3)
(4)

Ammoniacal CuCl

Oxidation of primary alcohols
Hydrolysis of esters

Oxidation of secondary alcohols
Reduction of acid chlorides

27

14

15.

16.

17.

18.

19.

THEA

. Pb(NO;), #1 @ =g Re@s & HCI fBam o

AT '

(1) 9= aeee

(2) 90 Teee

(3) HHE F@EBT

(4) =T goEe

% g C,Hg & isomers 89 & w0 s

(1) 2 2) 3
3) 6 4 4
899 H Fre-de g # daE
1) 1.20A @) 1.34 A
(3) 1544 4 1.39 A

=1 & § $F & afe® 1-butyne X 2-
butyne & g %% 7 3 U s@wE B o1
e & 7

(1) Br, in CCl,

(2) Dilute KMnO,

(3) Concentrated H,SO,

(4) Ammoniacal CuCl

M= 4 ¥ 9 1 SRS § propionic acid
# l-propanol ¥ F5% HFd & ?

(1) NaBH,

(2) LiAIH,

(3} Na and C,H:OH

(4) H,/Ni

5 [ % a7 Few B @ & an # oara
FL T ©

(1) s ohee # SR

(2) U= % EEgiEy

(3) HrEAHE Uehied H SRR

(4) ofE wRES B AT




20.

21.

22.

23.

— —— e — -

[CHE-2]

Which of the following is not a Lewis 20

acid ?
(1) SnCl, (2) OR,
(3) SOt (3) SO,

Salts on treatment with dilute H,S0,
gives a gas which will not turn lime water
milky. The salts may be -

{1} NHHCD3 {2} NBICD:}
(3) BasSO, (4) NaNO,

Which of the following is correctly
matched?

I Gel
I1

I11
v
(1)
(i1)

Coagulation

Micelles

Flocculation

Colloid-size clusters of molecules

Reversible aggregation of colloidal
particles

(iii)

A semi rigid mass of a lyophilic sol
having a network

(iv)

Irreversible aggregation of colloidal
particle

[-ii, II- iv, III-1, IV-ii
I-iii, II-iv, III-i, IV-ii
I-1, II-i1, III-iii, IV-iv
I-i1, II-iii, III-iv, IV-1

(1)
(2)
(3)
(4)
During depression of freezing point in a

solution, which of the following are in
equilibrium

(1)
(2)
(3)
(4)

Liquid solvent and solid solvent
Liquid solvent and solid solute
Liquid solute and solid solute

Liquid solute and solid solvent

28

21,

22.

23.

. T # u% g ot TE R
(1) SnCl, (2) OR,
(3) SOt (3) SO,

gaar H,S0, % @™ Al U% 79 a1 & & A
T SfEn ATl @ 8 ' & " 6

(1} NEHC03 (2) N32C03

(3) BaSO, (4)
Frfeias & & Si9 T8 a0 d e w
|

II

NaNO,

I fordes

IV e

(i) #eH % Colloid R 98!

i) FeiEsT # e T F9

(iii) lyophilic FF % % o1& F=X 42 TA9
T 0 Jea% B

(iv) FIEEaT F AUETHE TFERH FH

(1)

(2)

(3)

(4) I, I, -y, IV-

wF e & HiE # oan # dne e o A

B | e E -

(1) TS faomEs & 3 o

@) e fewE A S g g

(3) @ g g W ofT 2w gWm g
aret

T I e W iR o faenaE

I-ii, II- v, I, TV-ii
I-iii, I-iv, ITI-1. IV-ii
I-1, II-ii, IMI-iii, IV-iv

(4)

SRR | s e
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[CHE-3]

Rutherford's experiments, which established

the nuclear model of the atom,

(1) B particles, impinged on a metal
foiled and got absorbed

(2) cc-rays, which impinged on a metal
foil and ejected electrons

(3) Helium atom, impinged on a metal
foiled and got scattered

{4) Helium nuclei, impinged on a metal
foiled and got scattered

. The hottest parts of the Bunsen burner is

(1) Blue Zone

(2) Zone of complete combustion

(3) Zone of partial combustion

(4) All parts of the flame are equally
hot.

Nitrobenzene can be prepared by heating

with a mixture of concentrated

HNO; and concentrated H,SO,. In this

nitrating mixture, HNO, acts as

(1) A base

(2) Anacid

(3) A caralyst

(4) A reducing agent

mﬁb»um_.. p— - T — — |

24. TERHE & WA, S T F 9w weew &

T

(1) B %, &I @ 91g & 1 | e a7
YT B T

(2) T, N OOF 4G H G W e S
ENEHEREE

(3) @R A, & a1 # oS W oem
T foEy

(4) dftEm T, o Oy F o= e
AR faw

25. o9 TET H HEY T 9T 5 |t &

26.

(1) =g 9N

(2) 97 %A & I

(3) &ifSrh &89 & i

(4) o AN e e g o @ E
Nitrobenzene T 2 & g #fFr 2r7 Jar
FFAT ST WA B, et HNO, &R @i
H,SO; % =M Nitrating =1 , HNO, %
&9 F Y FAE -

(1) &

(2) o=

(3) TF

(4) SEERE

For Rough Work Only
(et sTget w1 & fog)
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[BIO-1]

Biology

27. Plants normally growing on sand are 27.

known as -
(1) Lithophytes (2) Xerophytes
(3) Chasmophytes (4) Psammophytes

28. Our skin becomes dark in colour when 2§
exposed to excess of sunlight. It is due to
the presence of :

(1) Carotene (2) Melanin

(3) Flavoxanthin (4) Haemotoxylene

29. Famous scientist Carolus Linnaeus is 29,

associated with one the following :
(1) Plant Classification

(2) Binomial Nomenclature

(3) Identification of plants

(4) Identification of Animals

30. Ozone hole or hole in the ozone layer in  3(.

the atmosphere refers to :

(1) Development of a hole in the Ozone
layer

(2) Decrease in the Ozone layer in
troposphere

(3) Decrease in the Ozone layer in
stratosphere

(4) All of above

31. In living cells synthesis of ribonucleic  31.

acid (RNA) takes place in :
(1) Cytoplasm (2) Nucleus
(3) Golgibody (4) Nephron

32. Deficiency of one of the under mentioned 32
vitamins causes cracking of lips in human
beings :

(1) Vitamin A (2) Vitamin B2
(3) Vitamin K (4) Vitamin C

30

_ STig-fasm=
Mo e 5 e e e e M el
are e B -
(1) SrErE (2) mEefE

(3) TS (4) FgHEEE

. G4 & 9 9 " OB ©= H T EE W

SR B, T g BN & e oF @ @ §
EREITE

(1) @Hafes (2) HAFE

(3) FIEEEREA (4) ERErRRE
yitRs dsfieh B foargd 1 = 2

(1) uRY e |

(2) FEYE-AH-UEN |

(3) U=y HAfRET &

(4) g S A

BAR agHew H IURed &SN wa d foE @
=Y B R -

(1) Tigdse H &MHE g F ©F 88 @
FmioT

(2) ©YHEw ¥ W TE TG & 9

(3) 99 Hed § W WA & Uaer A
T

(4) IodF |/

sifad HiEe § ReE-gHEE o (RNA) &
P R

(1) I3 5= (2) F=F
(3) = A (4) T

T B -
(1) [EefE-u (2) faEfte-di-2
(3) FEfE-3 (4) Frefo-




34.

35.

36.

a3

33.

[BIO-2]

Insectivorous plants grow only on such

soils which are deficient in :
(1) Calcium (2) Nitrogen
(4) Phosphorus

What will happen to the body of an adult
human being if his spleen is removed :

(3) Magnesium

(1) RBC production will be reduced
(2) Antibodies production will be less
(3) WBC production will be less

(4) Filtration of dead RBCs would not
be possible

DNA (De-oxyribonucleic acid) is not
present in one of the following

(1) Chloroplast

(2) Nucleus

(3) Mitochondria

(4) TMYV (Tobacco Mosaic Virus)

Due to the discovery of one of the
following in 1980, the evolution was
termed as RNA world :

(1) RNA present in some viruses as
genetic material

(2) RNA has enzymatic property
(3) RNA is found in all living cells

(4) RNA is found to be associated with
protein synthesis

In plants, the developing embryo is
nourished by endospermic tissues its cell
consist of ;

(1) One genome (Haploid)

(2) Two genomes (Diploid)

(3) Three genomes (Triploid)

(4) Four genomes (Tetraploid)

33.

34.

35.

36.

37.

ﬁﬁ&ﬁﬁﬁﬁ%ﬁﬁm&fﬁﬂmw@a
e w4t B &

(1) Sfesrm (2) EEEE
(3) FikEy (4) wEPRg

IR a7 # s ¥ AR e R
ST @ e F T e S ¥ -

(1) T & SRS & IarT § w8 &

(2) w9 & DR & SR ¥ w6 o

(3) WFERE™T % IuEa § Fi 2nf

(4) 90 W TR BREEEET w5 e o
Tl BrT

et & 3 Bl o 3 il o

(DNA) &l 97 wrer & |

(1) &RT @@

2) F==

(3) wrEEmHfga

4 o

7 1980 % O wewyet @ & e R

P %1 STC.TM.T (RNA) 9817 27 g7 & T
s

() %5 FEEs § s
ST T % B9 F g &

(2) AREAW. F Fpvas & o7 & ¥ |
(3) & HiEEE § ... g o 2

(4) IMTAL. F THq NEEIET F 2y
|

mﬁma@@ﬁwwﬁs&
IH & B ¥ | T T BREeT

(1) %90 OF oM (SR &rar &
(2) 2 SiEm (SgemE) B9 ¥

(3) i SiFm (FrpPm) & ¥ |

4) g ¥ B & 98
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38.

39.

40.

[BIO-3]

One of the following is not associated
with gametogenesis :

(1)
(2)
(3)
(4)

The part of biosphere dominated Dy
human beings is known as :

Formation of Ova
Formation of sperm
Change of spermatids to spermatozoa

Release of ova

(1) Troposphere (2) Hemisphere

(3) Stratosphere (4) Noosphere

The excretory organs in Earthworm is
known as -

(1)
(2)
(3)
4)

Malphigian cells
Renal cells
Nephridia

Flame cells

38.

39.

40.

fr & @ o g @ TG el A b |
(1) 3t 1 Fm
(2) SETEILR W i

PTG T R 7 e
U] F T

(3)
(4)
O Saed TS Hae e g A
% e PR HE

(1) &9 ded (2) & e T2
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[MTH-1]

Mathematics

41.

42,

43.

44,

A positive integer n when divided by 9,
gives 7 as remainder. What will be the
remainder when (3n-1) is divided by 9 ?

(1) 1 (2) 2
(3 (4) 4
If the zeros of the polynomial

x3-3x2+x+1 are a-d, a and a+d then
(a+d)is:

(1)
(2)
(3)
(4)

a natural number

an integer

a rational number
an irrational number

For which value of K the system of
equations 3x+y=1 and (2k-1)x+ (k-
L)y =(2k+1) has no solution

(1) -2 (2)
(3) =3 (4)

The ratio of the roots of the equation
ax?+bx+c=0 is same as the ratio of the
roots of the equation px2+qx+r=0. If
D, and D, are the discriminates of
ax’+bx+c=0 and pPXxZ+qgx+r=0
respectively then D :D, =

=
+3

2 2
(1) = @)
p- q-
(3) = (4) None of these

[}

r

. In a triangle PQR, ZR="" [f tan (%)

and tan {%} are the roots of the equation

ax>+bx+c=o0 (a=o0) then

(1} a+b=c (2) b+c=o0
(3) a+c=b (4) b=c

41.

42,

43.

44.

45.

T

U IEE IO €@ 0 R oS5 9 F Rufi By
ST B A S9e 7 o dr € o (3n-1°
9 F ROt R wm G dwem o=
3 7
(1)

1 2) 2

(4) 4

I TG O-32+x+1 B I a-d, 2GR
a+d & @ (a+d) & :

(1) % uma g

(2) @F I He

(3) wF Uity Her

(4) U URHAT HeEgyp

K# 8 9 % R qieer Freedt 3x-+y=1
AR (2Kk-Dx+(k-1)y=2k+1) & B 9§ & 7
Bl

(@) =2 (2) +2

3) -3 @) +3

fEEr Wi ax2+bx+x=0 @ ool &% ST
dI W pxl+qxtr=o0 3 Tl &
U X E 1 AR D, @ D, W
ax2+bx+c=0 AN p2+qx+r=0 & RATE
g, ar D;:D, =

O @
P q-
3) % @) T & B

@ BYT PQR &, sR= T o tan ()
&Y tan (%—} feum wliFer ax+bx+c=o0
(a=0) % T &
(1) a+b=c
(3) a+c=b

(2) b+c=o0
(4) b=c¢




46.

47.

48.

49,

50.

51.

[MTH-2]

The sum of n terms of two series in A.P.
are in the ratio (3n-13) : (5n+21) then
the ratio of their 24th term is :

1) @ —

oy
(3) % (4) None of these

From the top of a hill 200 /3 m high, the
angle of depression of a ship moving
towards the hill is 30°, After 2 minutes
its angle of depression becomes 60°, then
the speed of the ship assuming it to be
uniform is ;

(1) 10 km/hr 12 km/hr

(2)

(3) 14 km/hr (4) 18 km/hr
If Sin{x+y}:a+h 'I‘anx#
Sin(x-y) a-b' Tan y
b a
Sh 9y &
(1) = (2) =
(3) ab (4) None of these

What is the probability of getting a total
of at least 9 in a single throw of two dice?

5 7
Gl @'5e
11 13
) G ST

Equation of the internal bisector of angle
BAC of the triangle ABC whose vertices
A, B and C are (5,2), (2,3) and (6,5)
respectively, is

(1) x+2y-12=0 (2) 2x-y+12=0

(3) 2x+y-12=0 (4) x-2y+12=0
Equation of the circle passing through
two points on y-axis at distance 3 from
the origin and having radius 5, is :

(1) x2+y2+ 16x + 18 =0
(2) x24+y2412x-18=0
(3) x2+y2+4x+8=0
(4) x2+vy2+8x-9=0
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46.

47.

49.

50.

T A0 # & AP B n w3 dnee ®
(3n-13) : (5n+21) %t ol & & o9 24F
T 0 feaf g

l

(2) o

(4) =7 | B 7@

T & B 200 /3 det oE 3 @
AR T o e e e e e
F SHETT B 30° FEA & | 2 e F A
FETH FOT 60° B A B, N =@ I =
T

(1) 10 fFHr. 5o (2) 12 fRHL. 52
(3) 4. g (4) 18 B A
Sin(x+y) _a+b Tan x
s Sin (x-y) a —b'[he” Tany
. b : a
(1) =t (2) 5
(3) ab (4) 79 | FE TE
& UE B UF AT B W I 9R eiE &
ﬁﬁiﬁq—ﬁﬂﬂggﬁﬂ-ﬂﬂ'ﬁqﬁ%:
5 H
(1) 18 (2) B3
11 13
(3) 18 (4) 18

A ABC Fras ¢ A.B,C FH9T: (5.2). (2.3)

T (6,5) 8 F £LBAC # orwnE B
ATt 3@ OFEE E

(1) x+2y-12=0 (2) 2x-y+12=0

3) 2x+y-12=0 (4) x-2y+12=0
y-38 07 Rrg & 3% g0 W fem @ Rged @
v g4 5 e awt g9 @ el

(1)
(2)
(3)
(4)

x2+y2 4+ 16x + 18 =0
X<yt 2% - 18 =10
X2+y2+4dx+8=0
X*+y24+ 8x-9=0
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52. The mean of 7 numbers is 10, If the mean
of first 4 numbers is 8 and that of last 4
numbers is 16 then the fourth number is :

(1) 20 (2) 26
(3) 30 (4) 36
53. A horse is tied to a peg at one corner of a
square shaped grass field of the side 15m
by means of 5m long rope. Find which
one of the following is the increase in the
grazing area if the rope were 10m long
instead of 5m.
(1) 78m?2 (2) 78.53m?
(3) 58m? (4) 58.875m?2
54. A toy is in the form of a cone mounted on
a hemisphere of radius 3.5 ¢m. The total
11" height of the toy is 15.5 cm, then the total
A )25 surface area is :
=N (1) 220 cm? (2) 224 cm?
(3) 214 cm? (4) 214.5 cm?
55. A hollow sphere of external and internal
- I1.11;1111tfmr5, 8 cm and 4 cm respectively is
a\ - melted into a cone of base diameter § cm
L1 ¢ Hhen the height of the cone is :
h (1) 14cm (2) 18 cm
A\ (3) 20cm (4) 28cm
-’:FI-H ll - - + " .
T56. A circus tent is cylindrical to a height of
3m and conical above it. If its base radius
5l 1S 52.5m and slant height of the conical
f“"] portion is 53m then the area of the canvas
| | 3t required to make the tent is :
(1) 9000m?2 (2) 9700m2
(3} 9725m?2 (4) 9735m?
35

\)\ ,-- -_;" W TH'3]

52,

a3,

54.

35,

56.

7 wEAeT # oA 10 % | 9 gt § § e
| H A 8 U I 9N womre 16 & |
=reft Ger & 7

(1) 20 (2) 26

()30 s @) 36

T ST O FER a P e P g 15
M8 3P s I a5 H o

TH § 0 2 | o = oF owed 5 % §
wlﬂﬁr.é‘rﬁa‘rﬁmﬁa@aﬂaﬁ%ﬁ:

o & & -1 & 7
(1) 78 4.2 (2) 78.53 /.2
(3) 5842 (4) 58.875 #.2

T fEee B AR T E AR gee B &
UF A T GiF AT & 1 9 B omEw
H B 3.5 4. ¥ e Red 9 S 15.5
T %,ﬁffﬁ{%ﬁﬁ‘ﬂi[ﬁaﬁ[ﬁﬁ'%:

(1) 220952 (2) 224 952

(3) 214d5.2 (4) 2145742

T GrEe e Bew aed dr b9 =g
BT 8 WAL AT 4 T4 ¥ | = RuwEr 8
QAL A H A T e ¥, A g
S ¥ :

(1) 14 §.5. (2) 18 ¥.4:.
(3) 20 9.4. 4) 28 9.4
HEHH & 06 T 3 4leX f FOE % I

& R B SW 9 & o W ¥ R s
B 52.5 diex qan-sig # Rrd S 53
HITY &, f EwEF d W S §

(1) 9000 He2 (2) 9700 Hreg2
(3) 9725 dre? (4) 9735 Hre2




57.

58.

59.

60.

[MTH-4]

In the given figure, O is the centre of a
circle, BOA is its diameter and the
tangent at the point P meets BA extended
at T. If ZPBO=30°, then ZPTA=

B o 5 T
(1) 60° 2y 30°
(e s ] (4) 45°

In the given figure, PQ is a chord of
length 8 cm of a circle of radius 5 cm.
The segment at P and Q intersect at a
point T then the length of TP is :

9

8]
(1) 10 cm T (2) %cm
(3) é—ﬂcm (4) 20 cm

From a point P, two tangents PA and PB
are drawn to a circle C(o,r). If OP=2r
then A APB is an

(1) Right angled triangle

(2) Equilateral triangle

(3) Isosceles triangle

(4) Scalene triangle

In a given figure, ZACB=90° and CD L
AB then which one of the following
relation is true ? 7 A ¥

| "_
B VST

A 1 : B
D

BD2=AD x CD
AD?=BD x CD
CD2=BD x AD
None of these

(1)
(2)
(3)
(4)

-y

-7

59.

60.

—melﬁm.r ML I+

R ™ e 4, Bg 0w o @
BOA SH® #116 & | 30 97 3 &g P W
BA® 92 §¢ 9 3 farg T W Pt &
ZPBO=30° & /PTA=

60°
158

(1)
(3)

(1)
(@) Z-A.

g P¥ % g9 C (o,r) T & &iE@T PA ot
PB @i 1 & | 37 OP=2rar A APBE :

(1) &merT Brgw

(2) wHaTg PrgE

(3) wHiE=E FYw

(4) faumaETe B

Rd T g § ZACB=90° &% CD | AB &
Freifoifaa § § $iF-01 999 981 & 7

C

2

1 3
A D B
(1) BD2=AD x CD
(2) AD2=BD x CD
(3) CD2=BD x AD

(4) FH ¥ FE @




[HIS-1]

History

61. In which year Nepoleon invade Italy?
(1} 1821 (2) 1905
(3) 1796 (4) 1795

62.

63.

64,

65.

66.

Which imperialist power dominated
Vietnam?

(1) French (2) German
(3) (4) None of these

Which of the following were precolonial
ports of India?

(1)
(2)
(3)
(4)

Which of the following changed the form
of urbanization in the modern period?

Russian

Surat & Bombay
Calcutta & Hooghly
Surat & Hooghly
Bombay & Calcutta

(1) Capitalism

(2) Socialism

(3) Industrialization

(4) Colonialism

Mirat ul Akhbar was edited by
(1) Sir Syed Ahmed

(2) Raja Ram Mohan Roy

(3) Abul Kalam Azad

(4) Harish Chandra Mukherjee

Who said, “Printing is the ultimate gift of
God and the greatest one.”?

(1) Charles Dickens
(2) 1.V.Schely

(3) Mahatma Gandhi
(4) Martin Luther

38

61.

62.

63.

64.

65.

66.

e
gedl W A9ET 3 RRE A stmeer R
(1) 1821 (2) 1905
(3) 1796 (4) 1795

e e g @ Raem | oage
aq1?

(2)
(4) 9 9 Fg 78

T 4 B T B G SiubRes =
q7?

(1)
(2)

g T a4
Ferl AT G
(3) T AR gw
(4) &= ST Fog

T # BEe oyt g1 § sele @ ey
H qE?

(1) i

(2) TYEE

(3) SR

(4) SufTasERE

I 99 SEER 5 geEe B
(1) ¥ 95 Jeve

(2) =T T™ A T

(3) g9 FH =

(4) &y = gasf

‘B¢ T H AN TE FEMEH 39 Y wm
fee #mr?

(1) =7 Bwg

(2) .58

(3) wewEr

(4) = qEw



[HIS-2]
67. Who authored Gitagovinda? 67. M e’ § =i 9 87
(1) Jayadeva (1) “43q
(2) Mahatma Gandhi (2) e e
(3) Munshi Premchand (3) gsit Seie
(4) Chandu Menon (4) == A9

68. Which of the following was the first g8, =Y ¥ T Y adi HHEN 9 o717
Indian Newspaper? .
(1) ==

(1) The Tribune

(2) Times of India (2) TR S T
(3) Bengal Gazette (3) =M T
(4) The Young India (4) & g gfEar
69. Which of the following novel is not 69. T § FF W IUH DU EAT = e
written by Rokeya Hossein ? T8 B ?
(1) Sultana's Dream () g g
(ii) Padmarag (ii) TR
(iii) Sewasadan (i) T
(iv) Indulekha L (iv) 5@_@
i gl AT
(1) Only (i) and (ii) (1) %A (i) e (i)
(2) Only (ii) and (iii) (2) = (if) ST (i)
(3) Only (iii) and (iv) (3) Fae (iii) 7 (iv)
(4) All of the above (4) v fre =t
70. Who were the 'Trung Sisters' ? 70. S foEH F g
(1) Writers (1) dEs
(2) Women rebels in Vietnam (2) TETm 3 afear REE
(3) Actors (3) T
(4) None of these 4) =T q FE 5

MWW————__ p— — —
G A g v 0
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72,

73,

74.

i1,

[HIS-3]

Which of the following were the two
most important Industrial regions of
India ?

(1)
(2)
(3)
(4)

Who penned the following lines ?

Punjab and United Provinces
Central Provinces and Bihar
Bombay and Bengal
Bombay and Madras

‘Sarfaroshi ki tamanna ab humare di me
hai, Dekhana hai zor kitna baju-e qatil
me hai.
(1) Bismil (2) Raj Guru
(3) Bhagat Singh (4) Azad

The state of Awadh was annexed into
British dominion in the year

(1) 1855
(3)

In which of the following countries was
"Gadar Party" established ?

() S A

(2) 1854

1856 (4) 1853

(2) Germany
(3) Spain (4) France
Chauri Chaura is situated in the District
of :
(1) Deoria (2) Gorakhpur

(3) Maharajganj (4) Kushinagar

7L,

T

73,

74.

T,

ﬁﬁﬁﬂﬁ%é’fﬁﬂ@%ﬁgﬂfﬁﬁﬁméﬁ
T FATa?

(1) v 3T #ga

(2) F=i Tt o fw

(3) &M o F

(4) = 7 =
Frifefem et &1 Rraer Rrar 7

W B T o eHR R § B ey
@Tﬁﬁ?%ﬁqmﬁﬂ%’l

(1) fafsw (2) TS
(3) w77 o= (4) e

ST T R T ¥ R gan o -

(1) 1855 +% (2) 1854 &

(3) 18567 1853 %

(4)

ﬁwﬁmwmawmmﬁﬁmm
& o ?

(1) F.gm.ou. (2)
(3) =9 (4) wmH
=T Ree st & fag &
(1) &afe (2) @R
(3) HETeris (4) e



[GEO-1]

Geography

76. Which is the first expressway of India -

(1) Delhi- Kolkata
(2) Mumbai - Pune
(3) Pune - Chennai
(4) Delhi - Mumbai
77. Which of the following is abiotic
resource ;-
(1} Coal
(2) Iron-Ore
(3} Petroleum
(4) None of the above
78. Which are the cereal crops :-
Name of crops: -
Iis Rice II. Groundnut
II. Wheat IV. Mustard
V. Millet
Select the correct answer from the
following options :-
(1) I,II &IV (2) I, I &IV
(3 ILIIN&V 4) LII&V
79. Where rice dominant intensive
subsistence agriculture is prevalent :
Names of Regions :-
[.  West Bengal
II. Western Uttar Pradesh
III. Peninsular Plateau
IV. Eastern Madhya Pradesh
V. Bihar
Select the correct answer from the
following options:-
(1) I,IV&V (2) I,II & III
(3) I, HI &IV (4) LII&V
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80. Which are leading states of cotton Textile

51.

82.

83.

[GEO-2]

Industry : -
Name of States: -

I. Maharashtra 1II. Gujarat

III. Kerala IV. Haryana

V. Tamilnadu

Select the correct answer from the
following options :-

(1) LII&V (2) I, 11 & III

(3) LII&V (4) LIO&IV

What are the Human factors for 81.

establishment of an industry :-
Factors :-
I.  Labour II. Raw Material
III. Transport 1V, Banking facilities
V. Availability of water

Select the correct answer from the
following options :-

(1) I.II0 &IV (2) I, II&III

(3) LII&V 4) ILIT&V

River Barakar is a tributary of the River: 82,
(1) Subarnarekha (2) Kharkai

(3) Bokaro (4) Damodar

Hanuman Nagar Barrage is on the River : 83,
(1) Kosi (2) Gandak

(3) Bagmati (4) Kamla
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84.

= a]
L ]

86.

[GEO-3]

Which one of the following planets
belongs to the inner planet group as well
as to the superior planets group of the
Solar System ?

(1) Jupiter (2) Earth

(3) Venus (4) Mars

. Read the following statements :

(A) Monsoon Asia is one of the most
thickly populated areas of the world.

(B)

Monsoon Asia 1s an area of only
subsistence farming.

A is true, B is false
B is true, A is false
Both A and B are true
Both A and B are false

Which places are to be connected by

North-South corridor and East-West
corridor :-

Name of places :- [. Ladakh

II. Srinagar 1II. Porbandar

IV. Chennai V. Kanyakumari
VI. Ahmedabad  VII. Silchar

VIII.Guwahati

Select the correct answer from the

following options :-
(1)
(2)

I-V and I11-VIII
[I-IV and VI-VII
(3) I-IV and VI-VIII

(4) 1I-V and III-VII
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87.

88.

89.

90.

[GEO-4]

Gondwana rocks are found in : 87.

(1)
(2)
(3)
(4)

Narmada Valley
Chambal Valley
Krishna Valley

Damodar Valley

Capital of Lakshdweep is 88.

(1) Kavaratti
(3) Silvassa

(2) Daman
(4) Port Blair

Which of the following is the largest 89
barley producing state in India :

(1) Rajasthan (2) Bihar
(3) Uttar Pradesh (4) Punjab

Sandalwood tree is most typical of which (.

of the following forest type :
(1)
(2)
(3)
(4)

Monsoon forest
Evergreen forest
Mangrove forest

Mountainous forest

TS g2 0 o ¥

(1) e 91 &

(2) | e &

(3) F=m e §

(4) =HET e H
TIRIEIT I e B -
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(3) o9 a9
(4) uIHT 39
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[CIV-1]

Civics

91.

93.

94.

. Which

In which political system the guarantee of
civil rights can be maximally ascertained

(1} Totalitarian (2) Communism

(3) Monarchy (4) Democratic

Commission recommended the
establishment of the Permanent Inter-
State Council?

(1) Punchhi Commission

(2) Sarkaria Commission

(3) Radhakrishnan Commission
(4) Moily Commission
Which Parliamentary Committee

examines the income and expenditure in
Budget?

(1)
(2)

Estimate Committee

Public Accounts Committee
Privilege Committee

(4) Committee on Public Undertakings

On the
committee

recommendation of which
the 73rd Constitutional
Amendment Bill was passed?

(1)
(2)
(3)
(4)

L. M. Singhvi Committee
Lyngdoh Committee
P. K. Thungon Committee

G. V. K. Rao Committee

. From which of the following areas the

eminent and practically experienced
people are nominated as the member of
Rajya Sabha?

(1)
(2)
(3)
(4)

Literature
Science
Arts and Social Service

All of the above

915

92.

93

94,

45

TARREHITEE
(B Eardc i i e G oo ik i | el B ea R e
Haiies T grAkEd & o g 87
(1) waifeEFTEE (2) \rEmE
(3) SIS (4) BT

e amam 3 = SO aReE #
F TR AT

(1) g8t smEm
(2) TEHRAT SEA
(3) TEERL AT
(4) el SEn

ooe % [RuE-fre @ S deg B sm-u
|l Al e

(1) e AR

(2) wESEF wEr A

(3) Fdtenfiepre Al

(4) wES S § Hefe am

fpe wfbfa 1 oTgeEr W eRdE d@EyE & o
HAT B Qi fhar T

(1) ©w. . fHedr |
(2) FiTER \Hy

(3) di. %. ¢ wiEf
(4) . . F. 19 G

AT A BT = 2 = O 1 Lo e
el HYHd TS HEEl H AT A
AT R 7

(1) =fes

(2) fomm

(3) N T HHE Al
(4) T qH

b e e e T e P e e e s




S |
|
= |

G
AL PN

st emra Mﬂm&ﬂﬁch

I

[ECO-1]

Economics

areferrey
96. Which of the following is correct?

96. F=fafed § @9 o1 99 g & 7
(a) wmET $is § SudE Rt & Hon

(a) Consumer Rights was announced

first time in England g

(b) Consumer Awareness movement (b) YA STFTEFA ST B AT Hwer
started in America AR F gor

(c) Ralph Nader was the promoter of () UH &Y ITHRH HAEeE 3 wads o
consumer movement S B

(d) Lack of information is the main (d) T AT 9RO B g HRT
cause of consumer exploitation &
(1) All of the above (1) 39iRs g+
(2) Only option a and option b (2) % F9F a 797 b
(3) Option a, b and ¢ (3) T a. b aarc
(4) Optioncandd (4) T ¢ o7 d
97. Which activities come under tertiary g7 Fr=iiefen & 9 & TRy 3 8y q geeE
sector (service industry) ? 8 ot & 7

98.

(1) Transport, Health, Dairy, Bank
(2) Bank, Health, Transport, Insurance
(3) Bank, Health, Transport, Factory
(4) Factory, Fishery, Dairy, Insurance

In economics, it is generally believed that
the main objective of a public sector
financial company like bank is to :-

(1) Employ more and more people
(2) Maximize the total profit
(3) Maximise total production

(4) Sell the goods at subsidised rates
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(1) uREed, @re, 39d, 35

(2) %, @R, oftge, g

(3) 9%, @, gREes, HrEm

(4) HEH, T 99, 39f, S ogE
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(1) i & afas a5 S

Q) %W AW @ s

(3) [ FET P FEE

(4) gt & R a7 o e




—_— - SEE
[ECO-2] <
99. Development means economic growth 99, REm F s fF gfa F s i @ & -
with -
1) e 2) dHEIfS® 9REe
(1) price stability (2) social change &) =T )
(3) inflation (4) deflation (3) &1 ¥ (4) S
100.In which state in India is the infant 100.%ra % fFE T 7 19 99 o0 958 59 & ?
mortality rate lowest? 1)
2) iR
(1) Kerala (2) Bihar % i

(3) Uttar Pradesh (4) Punjab (3) TUT Wed 4) Y995
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